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Part 1 Listening Comprehension (20 minutes)
Section A

Directions: In this section, you will hear 10 short conversations.
At the end of each conversations a question will be
asked about what was said. The conversation and the
question will be spoken only once. After each question
there will be a pause. During the pause, you must
read the four choices marked A), B), C) and D),
and decide which is the best answer. Then mark the
corresponding letter on the Answer Sheet with a single

line through the center.

1. A) He lost his hearing forever.
B) He regained his eyesight and hearing.
C) He was hit by a car.
D) He saw a miracle from the paper.

2. A) Because it is very beautiful there.

B) Because there is a flower show there.



C) Because it is more quiet and peaceful there.

D) Because no one can hear them talking there.

3. A) It was boring. B) It was interesting.
C) It was too long. D) It was very moving.

4. A) It was in a crisis. B) It was in prosperity.
C) It was normal. D) It was reviving.

5. A) Yes. Because they have been asked to do so.
B) Yes. Because there’s something needing attention.
C) No. Because there’s nothing important.
D) No. Because the place is quite safe to keep their things.
6. A) His car was stolen.
B) His car was damaged by some children.
C) His girl friend was injured by the car.
D) His girl friend disliked his newly-bought car.
7. A) She changes her jobs one after another.
B) She was shot by someone.
C) She is well paid and promoted.
D) She hasn’t been here for many years.
8. A) He should work hard in order not to be fired.
B) He should be patient and take it easy at home.
C) He should try to seek another job.
D) He should talk with his boss about when he can go to
work again.
9. A) Because it was not only her fault.
B) Becausc Stay Bailey stole the wallet.
C) Because Stay Bailey told her the story.
D) Because Stay Bailey was also a witness.
10. A) The woman is much more careful than the man.

B) The man and the woman are crossing a street.



C) The man is looking after the woman.

D) The woman never listens to the man.

Section B

Directions : In this section, you will hear 3 short passages. At the
end of each passage. you will hear some questions.
Both the passage and the questions will be spoken only
once. After you hear one question, you must choose the
best answwer from the four choices marked A), B), C)
and D), and decide which one is the best answer.
Then mark your answer on the Answer Sheet with a

single line through the center.

Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A) Population explosion has become a serious problem to the
people on earth.
B) Sex education in school.
C) The different ways people use to slow population
growth.
D) Population control would bring clashes between different
cultures and religions.
12. A 5.7 billion. B> 10 billion.
C) 20 billion. D) 50 billion.
13. A) Abortion and sex education on young couples.
B) Using contraception all over the world.
C) Population control is a touchy issue.

D) Stopping the population explosion.



Passage Two

Questions 141 to 16 are based on the passage you have just heard.

14.

15.

16.

A) 32 million dollars. B) 7 million dollars.
C) Millions of dollars. D) 300 million dollars.
A) Whether or not English should be made the official lan-

guage.

B) Whether or not there should be a law to support eco-
nomics.

C) Whether or not the immigrants should learn English.

D) Whether or not they should spend money on bilingual ed-
ucation.

A) They say that the money could be better spent on teach-
ing immigrants English.

B) They believe that requiring immigrants to learn a new
language would be an obstacle.

C) They say that immigrants should use their own language.

D) They say that they have no time to learn English.

Passage Three

Questions 17 to 20 are based on the passage you have just heard.

17.

18.

19.
4

A) They lead an interesting life.

B) They disappear during the night.
C) They fail to reach the top.

D) They earn a lot of money.

A) He is important to them.

B) He buys their clothes.

C) He looks after the money.

D) He carries instruments for them.

A) Sightseeing.



20.

B) Enjoying themselves.

C) Paying taxes.

D) Buying the things they need.
A) To sleep in.

B) To travel around the country.
C) To carry their clothes,

D) To take their instruments.

Part 1I Vocabulary and Structure (20 minutes)

Directions: T'here are 30 incomplete sentences in this part. For

each sentence there are four choices marked A), B),
C) and D). Choose the ONE answer that best com-
pletes the sentence. Then mark the corresponding letter
on the Answer Sheet with a single line through the

centre.

21. John D. Rockefeller, , owned 90 percent of all American

i

oil refineries. » .
) while still a young man pd ﬂ""i‘\
B) as still a young man ZY';”&\—« 5

149

C)-a-l—young man however

D) in spite of a young man

22. Ten o%clock is ___ for a boy of his age to stay up.
A) a too late hour @ too late an hour
C) a so late hour D) very much late an hour
23. Our company decided to _____ the contract, because a number
of the conditions in it had not been met.
A) assume \ B) destroy
Gﬁ cancel & D) resist



. 4
24. The TN
atmoéphere is as ‘much a Ejrt of the earth as its

smls and the water of its lakes rlvgﬁs%{gd oceané’.!
A) is ‘ B) are
C) do D) has
25. At first I wasn’t able to _ __my brother from the crowd as
he had changed so much since his departure.
A) make up B make out _ VKQ)-\
C) make for 1;@—»7@ D) make of
26.  , he always thinks I am wrong.
A) No matter whatever I say or how I say
) No matter what 1 say and how I say it
C) No matter what I say it and how I say
{/ D) No matter what and how I say

Because the picture was not genuine, it was completely
—— e ——

T

A) valuable - o B) invaluable”

C) priceless 7 \Dél/ “worthless '%Q’*\mc-.
28. Try __ the voltage and see what will happen to the circuit.
= ) having mcreascd . B) to have increased \ s
(C) increasing SRR D) to increase oo
@ The constructxon/;} our laboratory ____ by the end of next
/ year.
A) must complete ﬁ} must be completed

These decisions will have a vital bearing their attitude

\j C) must have completed Qmust have been completed

!
towards the West.].~., [EET
A) en B) in v
p—

() to D) with
31. Do you feel like out or would you rather (4 dinner at

6



32.

33.

home?

A) going * to have ~ B) to go -+ to have

C) to go - having Q/going +»+ have

____ that silver is not widely used as a conductor?

A) Why is B) Isit

C)Itis D) Why is it

I was so angry that it was with great difficulty that T
from telling him exactly what I thought.

. A) held up B) held out

v

36.

. who la

QJ held ba%‘t " * D) heldon

" down his life for his country.

4) There is no greater love than that of a man
B)u There is no greater love than a man

C) There is no so greater love as that of a man

D) There is no as greater love as that of a man

. The second-hand car he bought was almost new; , 1t

was in excellent condition.

A) therefore }‘m R B) however
~C)4moreover |/ D) nevertheless
When John fell off the bike, the other children .
*A) could not help but laugh

B) could not help but laughing

v

C) could not help but to laugh
D) could not help to laugh

. The newly built auditorium has a seating of 40 000.

A) ability @ capacity , "
C) capabilityyy. cc.ve o 03};‘ D) faculty

. The airport has a VIP lounge (;# % % ),and it provides spe-

cial chairs with TV sets to them.



A) accommodated B) attributed

C) attached’ ; © .. i_. D) attended
39. The old gentleman never fails to help ___ is in need of his
help.
A) who '\WS whoever
C) one D) whomever
/49 It was an accident; the child didn’t mean to break the dish,
sp there is no reason to _____
g) lose your temper - B) keep your temper
C) lose your head D) keep your head
41. Mike might have come to school in time for the lecture ____

42.

43.

.‘\ _@ .

A) if he got up earlier

B) unless he had got up earlier

C) but he got up rather late

D) but he had gotten up late

Mary tried in the door, but _ _ worked.

A) every of her keys *++ none

B) all of her keys *** not everyone
all of her keys - none

D) her all keys -+ not all

He thinks he knows English well, but ___, he speaks very
poorly.
A) as a result B) as a rule
C) as a whole as a matter of fact 4
Not only you and I but aIS({I:‘er » the top student in our
grade,w__ the probm.

“is not able to solve B) are not capable of solving

C) was not able of solving D) being not capable to solve &

v

5. The captain of the ship the passengers that there was



,’ y o

r//'

46.

47.

no danger.

M assuregj B) ensured

C) insured " . S D) made sure
the room when the telephone C gy o
A) Scarcely he had entered +** rang ’

B)_He scarcely entered - rang

| mWe entered *** rang 1/4"1;"‘5\,

D) He had s scarcely entered **+ had rung
bright idea has been hit upon by accident.
N s

A) Manm, B) Too many of
C) Much D) Much the
. I'shall have to find somewhere else to work; I can’t the

noise any longer.

A) come up with< " 4 . B) catch up with
CJ put up with/? (’ D) keep up with
~49. We will now vote on the m___r;_.that membershxp charges
by 15%. s R
7 A) will rise B) arise
- L) should rise D) must arise
50. Their vigt'orq)r_js _ 5 they’ve lost too many men.
A) out of (iuestion ~ . -~ B) out of the question -
C) beyond q&estion © D) beyond the question
Part 111 Reading Comprehension (35 minutes)

Directions : There are 4 passages in this part. Each passage is fol-

lowed by some questions or unfinished statements. For

each of them there are four choices marked A),B), C)

and D). You should decide on the best choice and mark

the corresponding letter on the Answer Sheet with a
9



